| NFPS =

=

= A
NILER

=

& B2 51 18-z

RS - REMNE ) FRFEE
e LER
3BERESNERRENREN

= 2fA¥ELEH 1~5V (RE &EN)
» R FERFME < 5ms

RSB RERR

mEARA

| $514ERER
Q251

aXa
= mE -~ BORSE

%/’J"L
T

TERCATTH JBR 0 RURI T
EIEH1~5V BILEH1~5V
", 1~3~5V ! ‘ 1~3~5V

="l .Fs. ~0~Fs. (Umin)| /| -100~0~ 100 kPa
my| 1-5Y

=M 0~Fs. (Umin)

Qw0

0 3 aErEEXEEREREN
* IREEERME @ BRAVENEBKX
[ miiae (@m) |

=1

et EAR
s HBYETREE - SREREM

€ ERENERE
FESERWNEENES - LUe

W& DEBEBIERIRE SAEX
55
—EER
5 | =NFPS-[1-01-M5
-~ NFPS - ] - 01
45—
4 beiib L)
S 0.18L
3% WEESR
33
8
22.5
2
15 :
‘ ;
05 . 3
-1.0-0.8 -06 -04 -02 00 02 04 06 08 10  “Teeel.

Flow Rate (L/min)

A~ 3 - | 3 |
: : 3 B ———
10% F.S. | L : 10% F.S. / : \
0 : f ] 0 f f f
. ! B : LS
-50 kPa : : 100 kPa
0

*ﬂ}iﬁﬁ
SERR i ﬂ)ilifﬂ'x% IE%ﬂ)iBﬁ
SRR | | | TR | |
FEEHENTE  RELFH I3
(f1@m) (@) ()

5

@

IE"%‘“*%H WEBE AT AE IEBEFEE
[(FES

WEN(E WENIE E% BAHLH i,‘nﬂw@m

(dmAE3E) (EIB%R) ) ) (1)



| Mg

BUgE 003 005 010 050 100 | R003 | R005 | R010 | R0O50 | R100
R RE 0~03 | 0~05 0~1 0~5 0~10 |-03~03|-05~05| -1~1 5~5 | -10~10
B RE L/min L/min L/min L/min L/min L/min L/min L/min L/min L/min
TRl 75 A B 1A ®m
=)= 9] TR NEE -100 ~ 100 kPa
it/ 71 300 kPa
BARE $IR7eE 0 AR (N2) 0 JEEARNE - RAIs
BRER 15~24VDC £10 % * JERIEE <10 %
HEER <30 mA
BERE <+2%FS.
—— iRt JEARE 51
IRERE 2 <+0.6 % FS./°C <+03%FS./°C
BRI 3 +10 % F.S. +5%F.S.
EREE <+1%FS.
1B 1 R HigE +0.5%F.S.
TR 2 +2%FS.
o TERGH 90 % F.S. N> <5ms
B RA <1ms
ERIEERE #%5 LED > #& LED » 415 LED
s R EEHH 1~5V+5%FS. (£0.2V) (FFME)
IR £ 1 KQ
pielad o
B ?;’iigfﬁ ;q~15|<\;)i 1% F.S. (£0.04 V) (#14£)
R34 IP40
TERERE 0~ 50 °C ( fKERAFEKRTT)
BERE EjfF : 0~ 50 °C; fR7% : -10 ~ 60 °C ( HEKERALEIMTT )
BERE ENE R RTFRS 1 35~ 85 % R.H. (#E/KEE)
i IR 1%
it EE B 1000 V AC 1 24 ( SI#R R EBBINERE )
FBA&RE =50 MQ (500 V DC » 5| &K EBBSNAER )
M HRED EIRE15mm 100G §1 98 10Hz~55Hz~ 10 Hz * X Y » Z HEFAES 2 /)N
[ingeaE = 100 m/s? (10 G ) * X~ Y~ Z FAEE 3%
EIFIRE @2.9 PUR - 28 AWG ( 0.078 mm?) - 4 ;%
EE (BE3ARNER) #9439 (EHEEFE ) ; K947 g (M5 558 )
fﬁéﬁ

T RBHLTMES (£ 10%FS. ) REHE0~10L & -10~ 10 L K5h -
%2 HA:25°C (0~50 °C BELERN )
%31 E 0 kPa (-90 ~ 200 kPa B OEE R )

| RHFERT

AEEE (L/min) FERRMER ST (mm) FERTTE
-0.3~03 <@01 F R EEIREZ2 ~ 53K ~ Micro LEDs
0.5~05 @0.2
f A BAR  BABRSE - KEFH » Mini LEDs
-1.0~1.0 @0.3
-5.0~5.0 BleTE R
SE (FhE ) —RE
10~ 10 [P —— R ERE (R ) MRS

| BHHERERE

10C () 5

B ) T 520y

Ii@

Toc () &e




NFPS z5 rzamnoemes

| BRI
€ "BHRER (2 v

| EF3EE / R~TE
0O Exz

EEZR B2

M3 x 15L (8%3) M3 x 15L

10 x n {B + 24 (n=1~5)
10 % n {& + 14 (n=1~5)

it

- v
4x55
N
2

35
24
—2—
e

Lo}
2x55 185 S
4x45 x
[ I ]
BN S )
o M3 35 35
i 90© =4 -
S=E = =1 ={ | Sl —@ | © | %;lm | 4 - %

i
i
b
&
A
= b ]
w X
x5
o
S BFI T
B m
ot
T=1
IN)
N
8
w
T=1
N




| BUERARIEEREA

N FPS -003 - 01 - M5

| mseE | wamn | mEoE

003: 0~ 0.3 L/min R003 : -0.3 ~ 0.3 L/min 01:2 %ELbEHE (1~5V) s S 2 e
005 : 0 ~ 0.5 L/min R005 : -0.5 ~ 0.5 L/min M5 : M5 R ZF
010:0~ 1 L/min R010: -1~ 1 L/min
050 : 0 ~ 5 L/min R050 : -5 ~ 5 L/min I ReHRE (#4%)
100 : 0 ~ 10 L/min R100 : -10 ~ 10 L/min BT-29-1 : 1 #EfA ( EEZL + 8% M3 x 0.5P x 15L )
BT-29-2 : 2 &M ( BEF + 184 M3 x 05P x 25L )
BT-29-3 : 3 @A ( EEF + R4 M3 x 05P x 35L )
BT-29-4 : 4 HA ( BER + &% M3 x 0.5P x 45L )
BT-29-5 : 5 EfA ( BEEZE + 4% M3 x 0.5P x 55L )
ATT- 0017 M5 1247 R03EEES (NFPS--01-M5 BEE )
| R<E
=NFPS-0O0-01-MS
TE’H_T@ :I ?EZTT@ .}ET)(K 1
— _ —
| 2x 285 |
o P - e
5 ) C\E_=7 ]
) - 2x @34
@ O O | fmsrE 1@
10 |\2 x M5 x 0.8P 105 | 14
‘ 35
35.6
= NFPS - 1 - 01
©o 2 T ! ) RHETE |
‘ A & [\ 4
} — E E %rﬁ‘ L >‘-Ql a :
25 40 2 x @2 N e !
45
— —
Qw0
| NI \ bty
@ F@—H
10 35
A FIRBEE (LEMHF)
/ey . o
RERT @7 AREDE
ﬂﬁﬂ'ﬁ,a ! FERN @2 mm \ ( )
s EmTi: | R @3 mm @7m
2 fEEIL 4020.1 I, 2 x 02 - ! —~ =R Toamm
(3L 22+0.05) 15:0.1 10£0.05 M2 G FFLEE >5mm
' 2 x M2 &2 4844
T - | A ( R )
L7 — 1
I I oig ! %E \\H e
=3 I Y (21) 3 3‘ | \ T
SEMERE Rz<6.3 |
N\ ' %
B mm



